Marked passage, p. 367:

From one perspective, the fetus is, as Petchesky says, a “biological parasite” taking resources from the woman’s body.  During pregnancy, a woman’s whole life and energies will be actively involved in the nine-month process. Gestation and childbirth involve physical and psychological risks.  After childbirth a woman will either be a mother who must undertake a twenty-year responsibility for childrearing, or face giving up her child for adoption or institutionalization.  Since hers is the body, hers the risk, hers the burden, it is only just that she alone should be free to decide on pregnancy or abortion.

The only inference indicator, “since,” is in the last sentence.  This tells me the conclusion: “it is only just that a woman alone should be free to decide on pregnancy or abortion.”  Does that mean we should ignore the rest of the paragraph? My common sense tells me that the first four sentences support the conclusion.  (I hope your common sense tells you the same!)  But the word “since” tells us what the author thinks is the premise:  “hers is the body, hers the risk, hers the burden.”

Everything falls into place if you see that the words “hers is the body, hers the risk, hers the burden” restate the earlier sentences in the paragraph, giving us a neat diagram:





3. After childbirth a woman will either be a mother who must undertake a twenty-year responsibility for childrearing, or face giving up her child for adoption or institutionalization; [in other words,] hers  the burden.





2. Gestation and childbirth involve physical and psychological risks; [in other words,] hers the risks.





1. During pregnancy, a woman’s whole life and energies will be actively involved in the nine-month process; [in other words,] hers is the body.





Notice how I combined two sentences in each of boxes 1, 2 and 3, using the phrase “in other words.”





4. It is only just that she alone should be free to decide on pregnancy or abortion.








